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Problem #1  (30)       
(a) The equivalent resistance  
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(b) In the circuit shown  below , the value of  
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(c)  In the circuit shown  below , the value of  
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  and the power absorb by 
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(d)   In the circuit shown  below , the value of  
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(e)  In the circuit shown  below , the value of  
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Problem #2 (35)       
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For  the circuit shown  above :

(a) If   R = 1   write the mesh currents equations necessary to solve for the mesh  

currents  
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   and put the equations in a matrix form  (DO  NOT   SOLVE  THE  EQUATIONS)    
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(b)     If   R = 5 in the previous circuit the mesh currents are found to be
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            Find the power absorbed or delivered ( indicate it) by the voltage sources ? 
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(b)   Solution
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Problem #3 (35)      
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For  the circuit shown  above  

(I) If  R = 1  write the node voltage equations necessary to solve for the node   voltages   
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  and put the equations in a matrix form  (DO  NOT   SOLVE  THE  EQUATIONS) 
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(II) If  If  R = 12  in the previous circuit and the nodes voltages now are :
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Find the power absorbed or delivered (indicate it) by the independent voltage source  
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(II) Solution
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